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Completely Solved

Held On - 11th March 2012

REASONING

1. In a certain code ‘TEAMWORK'
is written as ‘NBFUJQNV and
‘SOME' is written as ‘PTDL'. How
is 'PERSON’ written in that
code?

(1) @DOOPT

(2) QDOMNR

(3) SFQMNR

(4) SFQOPT

(5) None of these

. How many such pairs of letters
are there in the word '‘SUB-
STANCE' each of which has as
many letters between them in
the word (in both forward and
backward directions) as in the

English alphabet ?
(1) None " (2) One
(3) Two (4) Three

(5) More than three

. How many meaningful English
words, not ending with ‘D' can
be made with the third, the fifth,
the seventh and the ninth let-
ters of the word ‘STEADFAST'
using each letter only once in
each word? (All letters are count-
ed from left to right) -
(1) None (2) One
(3) Two (4) Three
(5) More than three

. In a certain code ‘BASKET /is
written as ‘583%#1" and TRIED’
is written as ‘14%#2". How is

'SKIRT written in that code’
(1)-3%%41 (2) 3%%41
(3) 3%6#41 {4) 3#4%]1

(5) None of these

The positions of the first and the
fifth digits of the number
81943275 are interchanged.
Sirnilarly the positions of the sec-
ond and the sixth digits are in-
terchanged and so on till the
fourth and the eighth digits.
Which of the following will be the
third digit from the right end af-
ter the rearrangement?

)1 “ =
. 32 (4) 4
(5) None of these )

Directions (8 - 10) : Study the
following arrangement carefully and
answer the questions given below :

M3#RATIEJSK@FUS
4VI6GODS8XHN782W
8. Four of the following five are
alike in a certain way based on
their positions in the above ar-
rangement and so form a group.
Which is the one that does nnt
belong to that group?
(1) TER (2) 4@
(3) 6DV 4HJi1X
(5) N& % e
. How many sich numbers are
there in the above arrangement,
each of which is iminediately
preceded by a leiter but not

immediately icllowed by a letter?
(1) None (2} One
(3) Two (4) Three

(5) More than three

. What should come in place of the
question niark (?) in the follow-
ing serles based on the above

asrangement?

RTl S@F 416 ?
(38 % H (28HN
(3)8H7, (4Dx H

(5) None of these
. How many such symbols are
there in the above arrangement,
each of which is immediately
preceded by a number and im-
mediately followed by a letter?
(1) None (2) One
(3) Two {4) Three
(5) More than three
Which of the following is the sev-
enth to the left of the twentieth
from the left end of the above
arrangement ?
(mv Qe

(3)8 4 e
(5) None of these

10,

Divections (11 - 18) : Each of
the questions below consists of a ques-
tion and two statements numbered 1
and II given below it. You have to de-
cide whetiver the data provided in the
statements are sufficient to answer the
questicn. Read both the statements
and— \

~ /Give anvwer (1) if the data in
statement I s?ame are sufficient to an-
swer the guestion, while the data in .
statement {1 alone are not sufficient to
answer the question.

Glve answer (2) if the data in
statement II alone are sufficient to
ariswer the question, while the data in
statement I alone are not sufficient to
answer the question.

Give answer (3) if the data el-
‘ther in statement [ alone or in state-
ment IT alone are gufficient to answer
the question.

Give answer (4) if the data giv-
en in both the statements | and II to-
gether are not sufficient to answer the
question, and 4

Give answer (8) if the data in
both the statements I and II together
are necessary to answer the question.

11. Among M, P, T, R and W each
being of a different age, who is

/the youngest?

I. Tisyounger than only Pand
W.

11. M is younger than T and old-
er than R.

12. How is ‘gone’ written in a code
language? -

I. ‘you will be gone' is written
as 'ka pa ni sa’ in that code
language.

II. 'he will be there' is written

_ as ‘ja da ka ni"in that code
language.

13. On which day of the week (start-
ing from Monday and ending on
Sunday of the same week) did
Sushant visit Chennai ? :
1. Sushant visited Chennai two

days after his brother visit-
ed Chennal
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II. Sushant did not visit Chen-
nal either on Wednesday or
on Friday.

14. Towards which direction is Pwith
respect to the starting polnt?

1. P walked 20 metres, took a
right turn and walked 30
metres, again took right tum
and walked 20 metres to-
wards West.

1. P walked 30 metres, took a
left turn and w. 20 me-

; tres; again took left turn and
‘walked 30 metres towards
East.

15. How is K related to Z ?

I. Z and P are the only sis-
ters of D.
I, s mother is wife of K's
father.

Directions (16 = 20) : In the
following questions, the symbols @, 8,
#, © and % are used with the f-::llmu']ng
meaning as lusorated below :

‘P S Q" means ‘P Is not amaller
than Q.'

‘PO Q" means 'F is neither great-
er than nor equal (6 Q."

'P # Q means 'P is neither small-
er thag nor equal to Q.

‘P % Q' means ‘P is not greater

than{." -
‘P& Q" means 'F is nelther great-
er than nor smaller than @.'

* Mow in each of the following ques-
tions assuming the given statements

to be true, find which of the four con-
clusions [, I, IIl and IV given below

them is/are definitely true and give
your answer accordingly.
16. Statements:
R#J JSD, D@R. HRT
¥ Conclusions: [. T WD
II. T & D
lHLR &K
IV.JST
(1) Only either {or 11 s true
(2) Only 111 i trus .
[3) Only ll/and TV are true
{4) Only giiher Y or I and 11 are
bruz
(5) Mane of these
17, Stdicmenis: |
THRESEMMa@D DEH
Conclusloms: . D% R
I.H#R
.TeM
W.T% D

(3] Only [ is true
(2) Only 1 and IV are true
(3) Only 1 and 11 are true
(4) Only Il and TV are true
A5) None of these
*18. Statements:
M@BBFNNSRROK
. ‘Conclusions: [. K¥B
1. REB
MmMsR
IVNEM
(1) Only I and III are true
(2] Only | and Il are true
(3) Only Il and IV are true
(4) Only 11, 11l and IV are true
. [5) None of these
19. Statements : .
FEHHOMMOE ESJ
Conclusions: 1. J@W
i . E#H
Nn.MoF
IWF#8
(1) Only I and I are frue
(2) Only 11 and Il 2re true
(3) Only I, 1! and lil are true
(4) Only 11, 11 and IV ares true
(8) None of theae
20. Statementy:
D®%AAESBBOK KWM

Conc/resions:) (. BSD
II. K#A
MmMiB
wv.A@M

(i} Only 1, Il and IV are true

(2) Cnly 1, Il and 111 are true

{3) Only 11, 11l and IV are true

) Only I, 111 and TV are true

(5) AlL L, I1, ITI and TV dre true

Directions (21 - 28) : Study the
iollowing Information carefully and an-
swer the given guestions :

A word and number arrange-

ment mpachine when given an

input line of words and numbers

rearranges them following a par-

ticular rule in each step. The

following is an llustration of In-

put and rearrangement. (All the

numbers given in the

ment are two digit numbers).

Input @ gom: over 35 69 tést 72 park

${ep.l 27 g‘::rm: over 35 69 test 72
Step H : 27 test gone over 35 69 72
park

Step 1l : 27 test 35 gone over 69 72
park

Step IV : 27 test 35 park gone over
69 72

Step V' : 27 test 35 park 69 gone aved’
72

St:p V1 : 27 test 35 park 69 over gone
-T2
Step V11 : 27 Lest 25 park 69 over 72
. gﬂﬂﬂ
and Step V11 is-the last step of
tiie rearrangement of the above
input as the desired arrange-
ment |s obtained. . g
As per thérules followed in the
- abhove siéps, find oul in each of
the feliowing questions the ap-
propriate step for the given in-

BUL .

21, Input : B6 open shut door 31 49
alwaya 45
How many steps will be required
to complete the rearrangement?
(1) Five (2) Six
{3) Seven (4) Four

(5) None of these
22, Step Il of an Input: 25 yes 37
enemy jov defeat 52 46
Which of the following is defi-
nitely the input?
{1) enemy.25 joy defeat yes 52
37 a8 }
(2] 37 enemy 25 joy yes defeat
52 46
(3] ‘enemy joy defeat 25 52 yes
45 37 :
{4) Cannot be determined
(5) None of these
23. Step Il of an Input :
34 now If victory 61
How many more steps will be
regquired to complete I.hr rear-
rangement? .
(1) Three
(2) Four
{3) Five
(4) Six
(5) More than six
24. Input : where 47 53 12 are they
golng 39
Which of the following steps will
be the last but one?
(1vm 2w
3v - [4) VIII
* 5] None of these
25, Step 1 of an input: 33 store 81 -
75 full of goods 52

18 win 71
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Which of the following will be
step VI ?
(1) 33 store 52 of 75 81 full

goods ;

(2) 33 store 62 of 75 full 81 goods

(3] 33 store 52 'of 75 goods 81
full

(4) There will be no such step

(5) None of these )

Directions [26-30) : Study the

following information carefully and an-
swer the guestions given below :

Following are the conditions for

sslecting Manager-HR in an organisa-
ton -

The candidate must — '

0 beatl=ast 30 years and not
more than 35 years as on
01.03.2012.

(1) have secured at least 80 per-
cent marks in Graduation in
any discipline.

(i) have secured at least 85
percent marks in the Post
Graduate Degree/ Diploma
in Personnel Management/
HR.

v} have post qualification work
experience of at least flve
years in the Personnel/ HR
Department of an organisa-
tion

fv)] have secured at least 50
* percent marks ln the selec-
-stion process.

In the case of a candidate who

satisflea all the above conditions

except-

@ at (i) above, but has secured
at leasl 55 percent marks in
Graduation'in any discinling
and at least 70 percent marks
in Post Graduate Degree/D1-
ploma in Personne! Manage-
ment/HR, the case is iz bz
referred to GM - HR.

) at (v} above, ‘Aut has post
gqualification work experience
of at leastour years oul of
which af icast two years as
Deputy Manager-HR. the
case is to be referred to Pres-
Idemt - HR

In each question below are giv-

ezt detaiis of one candidate. You

have to take one.of the following
courses of actions based on the
information provided and the

conditions and syp-conditions

given above and mark the num-
ber of that course of action as
your answer, You arc not 1o as-
sumeé anything other than the in-
formation provided in each ques-
tion. All these cases are given to
you as on 01.03.2012.

Mark answer (1) if the candidate

I= mot to be selected

Mark answer (2) I the data pro-
vided aresnot adequate to take a deci-
slon,

Mark answer (3) if the case Is to
be referred to President-HR

Mark answer (4) If the case Is to
be referred Lo GM-HR

Mark answer (8) I the candidate
is to be selected

28. Rita Bhatt was born on 25th
July 1978, She has secured 62
per cent marks tn Graduation
and 65 per cent marks in Poat
Graduate Diploma In Mangge-
ment. She has been working for
Lhe past slx years in the Person-
nel Department of an oiganisa-
tion after comipletizg her Fost
Graduation. Enc has secured 55
per cent marks In the selection
process.

« Asholi Pradban was born on 8th
August 1920, He has been work-
ing in U Personnel Department
of an organisat’on for the past
four years aftzr completing his
,Post Graduate Degree in Person-
nel ¥anagement with &7 per-
cent, Out of his entire experi-
znce, ke has been working for
the past two years as Deputy
Mznager-HR. He has secured 62
percent marks in Graduation
and 58 per cent marks in the
selection process.

28. Alok Verma was born on 4th
March 1976, He has been work-
ing in the Personne]l Department
of an crganisation for the past
six years after completing his
Post Graduate Diploma In Per-

sonnel Management with 66 per |

cent marks. He has secured 57
per cent marks in the selection
.process and 63 per cent marks
In Graduation.

28. Swapan Ghosh has been work-
ing in the Personnel Department
of an organisation for the past
five years after completing his
Post Graduate Degree in HR with
T2 per centl marks. He has se-
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cured 56 per cent marks In

Graduation. He was bormn on 1285

May 1977. He has secured 58

per cent marks in the selection

prOCEss.

. Seema Behl has been-working
in the Personnel Department of
an organisation for the pasi sev-
en years after completinZ her
Post Graduate Diploina in Per-
sonnel Manageient with 70 per
cent tnarks. She was born on
Sthiduly 1979, Ehe has secured
€5 per cent wmarks in Gradua-
tion and 50 per cent marks in
the selectlon process.
Pireations (31 - 36) : Study the

followlng infarnation carefully and an-

awer the questlons given below :

a8 % C D E F, GandH are
elght friends travelling in three differ-
ent-cars, viz. X, ¥ and Z with
at least two in one car to three differ-
ent places, viz. Delhi, Chandigarh and
Agra.

There is at least one female mem-
ber ln each car. D Is travelling with G
to Delhi but not Incar Y. Als travelling
with only H in car Z but not to Chandi-
garh. C is not travelling with either D
or E. F and D are studying in the same
only girls’ college. H, Band G are study-
ing in the same only boys’ college.

31, Which of the following repre-
sents the group of females
among them?

(1)F,.C, A

(2)F, G. A

3D.CA

{4) Data Inadequate

[5) None of these

82. Which of the lollowing combina-
tions is correct? ~
{1) Dethi-X-C
(2] Chandigarth-X-F
(3) Agra-Z-E
(4] Delhl -Y - E
(5} None of these

33. In which car are four of them
travelling ?

N XorZ @y

3) Xor¥Y 4 Z

(5) Mone of these

34. In which of the following cars s

€ travelling?

mx 2y
@3z (4) Either X or'Y
(5] Data inadequate
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Passengers In which car are trav-
elling to Chandigarh ?

ny 2) X

(3) Efther Xor Y

(8) Data inadequate

(5) None of these

Directions (38 - 40) : In cach

of the quiestions below is glven a state-
ment, followed by a question, Read the
statement carefully and answer I.he
question that follows.

36. Statement : The State Govern-

ment granled special stalus to
the seminar on the Importance
of protecting the environment
around us organised by the lo-
cal academic body to create
awareness among Lhe citizens.

Which of the following may be a

probable reason for the State

Government's decislon?

(1) The Central Government has
accorded highest priority Lo
issues related to protection
of envirenment, over all oth-
er lssues.

(2) In the past the State Govemn-
ment had granied special sia
tus to such seminars

{3] The Stale Government has
failed to implement measures
for protecting the environ-
ment ;

(4] The local academic body made
a fervent appeal for the spe-
cial status

(5) None of these
Btatement : Most car manufac-
turers have marginally reduced
the price of thelr products de-
splte higher Input costs and in-
creased Government dubiss and
have promised to keejithe pric-
es at the present level for at Yeast
the next couple of moaths.

Which of the following can be

best posalble reason [or lhe

above step by car manufactir-
ers?

(1} Car manufacturers have not
been abie towest their sales
mga:" ior the current year so

2) T'A. Government Is planning
to roview taxes on the raw
miatevials for manufacturing
cars. "

{3\ The car sales market is go-
mgu?rmmnjubunm phase

as the volume of sales has
plcked up considerably in the
recent past and prolit per car
has also gone up. :

(4) Car buyers are still hesitant
to make their purchases and
may postpone for another few
months.

(5) O1l marketing companies are
contemplating reviewing the
petrol and diesel prices in
order to declde future mar-
ket prices.

Statement : The prices of vege-

tables and other food articles

have decreased In the recent
months raising hope among pol-
icy planners that the RBI's (Re-

serve Bank of India) tight grip |

on supply of lquid money in the

market for controlling Inflation

may be cased,

Which of the following may be. a

poasihle action of the above sit-

uathon®

(1) The Reserve Bank /of India
may not reduce lis key inter-
est rates ln near future.

{2) The Governmenl may slep in
and make certain conces-
slons to the common people

- on various [ssues

(3] The Resarve Bayik of Indin
may consider lowering cer-
tain rates o bring In more 1i-
nulcut}r im the market.

(%) The RBlmay walt for at least
priothes year before taking
dny step,

{3 The RBI may collect mare
data from the market and
walt for another four manths
to ensure they take the cor-
rect siep.

Statement : A severe cyclonic

starm hitl the Eastern coastline

last month resulting in huge loss
of life and property on the en-
tire east coast and the Govern-
ment had to disburse a consid-
erable amount for reliel activi-
ties through the district admin-

Istration machineries.

Which of the following may pos-

sibly be a follow up measure Lo

be taken up by the Government?

(1) The Governmenl may set up
a task force Lo review the
post rellel scenario in all dis-
tricta and also to confirm
proper end user receipl of the

rellefl supplies.
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(2} The Governmenl may Se&L up
a commities for proper dis-
bursement of relief supplies
in future.

{3} The Government may emposw-
er the District Magistrates io
make all future disburse-
ments of relief.

(4] The Governinent may send
reliefl supplies to lh:: alleet-
ed people In fuiurz only al-
tér proper assessment of the
damage caused by such ca-
lamities.

(5) The Government may nol
need to sctivale any [ollow up
msasure,

Statexwant : It has been report-

ed in a recent study that intake

of moderate quantity of milk

. chocolate reduces the risk of

suffering from ceéntral nervous

system related linesses.

Which of the lollowing would

weaken the (indings of the study

reported in the above slatement?

(1) People generally prefer to cal
chocolale when they are
young,

{2} Majority of those not diag-
nosed with discases related
to central nervous system
have stayed away from eal-
ing chocolates in their lives.

(3) Chodolates contaln eertain
elements which strengthen
the functions of the central-
Nervous system

(4) Majority of those sullering
from central nervous system
related diseases are middle
aged.

(5) Many of those who suffer
from diabetes also suffer from
other major allments.
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Directions (41-80) : In each of the questions given below which one of
the five answer figures on the right should eome after the problem ﬁgures on, ENGLISH LANGUAGE
Lhe left, if the sequernice were continued ? Directions (51-60) : In 11 fol
Problem iguses Aungwar Figuses lowing passage Lhere are blanlks, cach
Y : . of which has been nuinberesd. These
B *EIH.OJK RABAR[Z*T|.[ROs|zA T|ZOTIDAF|IDOF numbers are printed below the pas
4L0  AK %A Opk  AJO Al |6 Kk xic  kpk  x|C ok sage and against each, live wordsare:
K=0l=AVIH*E[POXj¢c xA] [¥A=l0¢C AXAADCGIXAG suggested, one of which jits the blank
o m @2 @ @ 6B appropriately. Find out the appropri-
AOXOSs k0SB eB[se =] [SOK@c=[@c=[@c=sce atesanincach ofles.
42 CB=AB|K & =K O =laB K aO= AlAK S|A 8 Kidk 8§ Al/AB K {81) over the world, ngh[b'rch_\,.
KseK®cla®clacxoc x| |Bc #lo B'xlo % BlK B Ol=0x% edLainwrmahnntex.hxfolog),rthata're
‘ 0 2 3) @) ) already legally recognised are daily
_ being violaied. {52} in the name ol eco-
TsSHTPSE*R*"BIF ~1 [FTAR[44 RF P %7 P *d 4 A nomic advancemeiit, political stabilily
43, Pls x» T4 TP Rl |x sjx s M7  Mx s or for personal greed and interests.
P * 4R TFIPTA4 PSP sTI PT4P? TlsRTsR P S® Violations of these rights have [53) new
: (1) (2) (3) @ (5) problems in human social systems. -
) such as the digital divide, cybercrime.
[§] x s} © al- digital security and privacy concerns,
ul| l «— | /o ¥ e— | e— | /| e— oS l all'of which have [54) peopie’s lives
o o) () [s) either directly or indirectly.
@2 1’ @ (5) It is important that countries
. . come up with the guidelines for action
TONE LR Y b AT L U T LR o (85) the incidences of malicious at
T O U R i R i B R ‘1'_ UT e T 1Y “ ‘Ll tacks on the conlidentiality. integrity
0 e e B U OB (8 LS L B R N and availability of electronic data and
@ @ @ (5) systems, computer related crinmes,
g g s ey e IO (G B 1 e o o 51 coqtent relaled offenses an‘ch'ioiaiions
w5 IR*T I AT BIE IS [assrDADeJRUSR®Y of i cligetual properly rights: [B0l,
T aola R OlR D+t ewle v T! [d T ole T dlx 5o 214 5 T t%n'eat.?taauma]u?fr.astruclumandnd-
et L o @ 3 ) ‘ ®) tional interests arising from the use of
NS the internet [or criminal and terrorist
[ o — activities arc of growing {§7). The harm
- l]‘jT H'J-T “‘LT l“T lTlT J-“’Tﬁ’” 1 l“T l'u'l‘ incurred Lo businesses, governments
L | & RS |.’: LT v i 4,1 and individuals in those coutilries in
: (1) {5“ 3 () ) which the initernet is used (58}, is gain-
p _ | Ing in [69) and importance, while in
I <18 7 ¥ls 2 K|‘ [aalk ‘K/' 7 & =T other countries:; cybercriine threatens
48, x> X ‘; Sy L iﬁ/ﬁ- ﬁ%% AN | A the application of information and com-
| AR h T Gl ofT | 4 > | ol g (s alK munication technology for government
- @2 3 @ (6 services, health carc. trade. and bank-
' ing. As users start losing [60) in on-
K =% = %Az *IT 2/ %P T % ’-‘5—1' %8 P %A T *Z T Rs T » line transactions and business, the
49.]Z S 8|AK T =eP A es zoe IK P oK T eis z elP A oK P * opportunity cosls ay becosie sub
O T PIT P siP s Kfs K =|K =4 /=4 2;= 45 2P = K(8 K =iz A 12 stantial.
m @ @ ‘W ® 81. (1) Entire (2) Lot
(3) Great (4] Al
4 it . Zn l T . /w* /»* / /h I* (5) Much
B50. e 2 * )
Q-/,L N A& ! L ¢ & e g e 52. (1) scarcely (2) whetier
m @ @ @ © (3) and (4) for
(5) hardly :
83. (1) created {2) henl
(3) pressured {4 visea
{B) stopped
- 54. (1) distanced
Gr8AmbitionZ.com e
(3) exaggerated

(4) advanced  (5) cropped




for more materials and previous papers visit us at www.Gr8AmbitionZ.com

BB. (1) engage [2) conflict
(3) war (4) combat
(5) struggie

B8. (1) Byt (2) More
3) Addition (4) Beside
(5] Further

57. (1) concern (2) nature
(3) paltern (4) important
(5) matter -

B58. (1) really (2] Npuratively
(3] widely (4] never
(5) tandem ;

B9, (1) fear (2) days
(3) posithviy (4] width
(5) scope

B80. (1) tracks (2) measure
[3) confidence  {4) mind
[53) grip
Directions (61 -65) :

the foliowing six sentences (4), (B}, (C,
(D), [E) end (F] in the proper sequence
to foria a meaningful paragraph: then
answer Lhe questions gh.'cn below
them.

{A) 1t 1s no wonder that a major-

ity of these excluded and low-

achievers come from the most

deprived sections of soclety.

(B) They are precisely those who

% are supposecd (o be empow-
ered through education.

(C) With helghtened political con-

.sciousness about the plight

of these to-be-empowered

people, never In the history

of Indla has the demand for

inclusive education been as

fervent as today.

(D) They, either never enrol &
they drop out of szhools at
different stages diring these
elghtl years,

(£} Of Lhe nearly 200 milllon chil-
dren in the age group bz-
tween 6 and 14 years, more
than halfl d& not complete
eight yeara ol elementary
education.

() Of those whi do complete
eightyears ol schooling, the

" acldevement levels of a large
. percsalage, In language and
. migthemalles, Is unaccept-

oy ablyiRw. iy
8. Whioh ¢f tha lollowing should be
< the YHIRD sentbrce-after rear-

I L 'mw: wiradst Lifs svloen

(A (2] B
3o (41D
(5)F

62. Which of the following should be
the FIRST sentence after rear-

rangement ?
(1A 2B
(3 C. 4D
(8 E
63. Which of the following should be
the SECOND sentence after re-
arrangement ?
(1IF 21 E
@p M.
(5B
64. Which of the following ahauld be
the FOURTH sentence after re-
arrangement 7
(1) A (2) B
13jc 4D
HE

65. Which of the following shieuld be
the FIFTH senterice aftzr rsar-

rangement?

(WF 2 E
(3D (45
(5 A

Directions [628-70) : ird each of
the following sentences, an idiomatic
expression or ¢ proverb s highlight-
ed. Sclect the allernaiive which best
describes ts use in the sentence.

66. Facts spoke londer than words
at the Company meeting where
the Director tried to paint a rosy
pleiure of the Company's finan-
chal health,

(1) Too many facts related to the
good financial health of the
Company were presented
during the méeting.

{2) The Company was not doing
well financially despite the
Direclor saying otherwise.

(3) The Dircctor was very loud
while presenting the facts
aboul the Company's finan-
cial health during the meet-
ing. _ :

(4) The facts stated In the meet-
ing supported the Director's
claims of good financial
health of the Company.

(5) The Company was doing ex-
ceptionally well financially,

' desplig, the, Director saying

goraas n (R 1
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By Initiating the fight with Sak--

shi in office, Kajal had diled ike

goosc that lay the golden gg.

(1) By initlating the fght with
Sakshi in office, Kajal had jeft
her speechless.

{2) Kajal had ruinzd her chane-
es of success by pitking a
fight with Sakshiin cffice.

(3 Kajal had exacted her re-
venge by pleking a fight with
Sakshi in oflies:

(4} Kajal had hurt Sakshi by
plcking a fight wilh her in
cffice.

(8) By inilatng the Mght with
Sakahi in offlice. Kajal had
missed gelting lh{. golden
CHE-

It the chips fall where they

niay and do not worry too much

about what I want to do next.

(1) 1 take calculated risks.

(2) 1 let others do what they want
and do not Interfere. ¢

(3) I am clumsy.

(4] 1 do not try to control my des-

tiry.

(5) | prefer chaos to calm.

After trying hard to convince

Narendra to change his ways.

Raman realised that a leopard

cannot change its spots.

{1} Raman realised that Naren-
dra would never change his
WayS.

[2) Raman realised that Naren-
dra was helpless.

(3) Raman realised that He was
not good at convincing oth-
Brs.

(4] Raman realised that Maren-
dra would change his ways
S00Mn.

(5) Raman realised that someone
else was forcing Narendra to
act in a certaln way.

. Before starting work on our new

project, our mentor tald us to

not count our chickens before

they hatched.

(1] Our mentor warned us
against being over confident
about achieving success.

[2) Our mentor asked us Lo me-
ticulousty count the chicken
first and then the eggs.

[3) Our mentor warned us

betng over-enthusias-
tic in Implementing the

project.
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4] Our mentorwamed us about
all the challenges that lay
ahead of us,

(8} Our mentor lnformed us
aboul the prizes that we
would get on succeeding.

Direction (71-88) : Read each

sentence to find out whether there Is
any grammatical error or idiomatic er-
ror in it. The error, If any, will be In one
part of the sentence. The number of
that part is the answer. If there is ‘No
crior, the answer s (5). erTors
ol punctuation, if any).

71. The third season of (1)/ the pop-
ular television show will ends
{3)/ on a grand note with (3)/
celebrities dancing and having
fun. [4)/ No error (5)

The website, which doea not (1)/
accept advertisertents and Is
funded (2)/ entirely by dona-
tions, describes it=ell (3)/ as the
fifth most populas website on the
planet. 4]/ No error (5)

As sharing crime statistics fer
(1)/ the year 2011, the Commis-
sloner admitted that (2)/ there
had been an undue delay In (3)/

the setiing up of an antl-narcoi-

' ics cell. (3)/ No error (D)
74, The Moon may be the best place
1N/ to look for allens as their
{2)/ fobtprints on their surface
would (3)/ last far longer than
radio signals. (4)/ No error (5)
76. The Jjudge advised the govern-
ment to (1)/ have metered au-
torickshaws across the state
while {2)/ recounting his person-
al experlence where an autorick-
shaw driver (3)/ made him (o wait
and also demanded ¥ 1085 (4)/
Mo error (5)
The Company aims (1] to near-
ly double [2}/ its revenues on the
back 3}/ of a strongest product
pipeline. (4)/ No error (5]
The woman that had (1)/ kid-
napped a child ‘has now (2)/
been apprehended and Is being
[3)/ held in the citv's joil. (4)/
Mo error [
Rose growwers in (1) the city are
waking-up {2)/ to the benefits
(3] &t collective action. (4]/ No
errar {5)
The Mintster will hafe (1)/ a
tough task on his hands (2)/
whexve three different recommen-
daticns (3)/ for this year's rate
reach his deak. (4]/ No error (5)

78.

80. The current economic scenario
(1)/ could possibly wndo (2)/ the
growth that followed (3)/ the
economie liberalisation of 1891.
(4)/ No error (5)
In a first of its kind study, {1],.? a
team of sclentists have tried to
(2)/ “grow” new stem cells in (3)/
the ear that get damage with age.
(4)/ No error [5)
I successful, the research could
{1}/ pave the way towards (2)/
the prevention in untimely deaths
(3)/ dueto I'al.u] J.ll.n.meﬂ (4)/ No
error (5)
83. The Ministry has directed Banks
(1)/ to do away with their (2]/
geparate promotion policies, a
move (3)/ strongly opposed by
the officers’ unions. (4])/ No er-
ror (5)
After a complaint was filed; (1)/
police teams was glven the pho-
tograph (2)/ of the accused fram
the CCTV footage (3)/ recorded
at the hotel, {4)/iNo errar (5]
Activisls opposing the rall project
said (1)/ that the cleven nsw [ly-
avers to be bullt (2}, would prac-
teally ring {3)/ the deait knell
for the city. [4)/ Ne error (B)
Directionn {588-100) : Read the
following passage carefully and answer
the questions given below it. Certain
words,/phrazes have been printed In
baold to heip you locate them while
anawering ome of the questions.
In Indla, innovation is emerging
one of the mosat important rubrics
du: discourse on how to bring aboul
gmmar syl more conalstent economic
and social development. One observes
steardily growing investments in R & D
across the country, the setting up of

81.

national and state innovation bodies,

as well as the Introduction of govern-
ment sponsored innovation funds.
There have also been several confer-
ences and debates on innovation and
how to best promote and accomplish
it in Indta, and a number of articles on
the subject, written for newspapers
dnd magazines, as well as more Infor-
mal platforms like online forums and
blogs.

Academic engagement and Indi-
an authorship on the subject have also
exploded in the last five years. Despite
widespread agreement on the impaor-
tanice of innovation in india, there are
wide pulfs betweeti ‘diférént concep,
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tlons of innovatipn and the path India
should take towards securing benelits
through investments in innovation:

Many Indlan converaaiions
around Innovation begin by taiking
about jugaad, that uniqueiy Indian
approach to a temporary fix when
something camplex, like a.nxm*onmhlle
or a steam englne stopz working. H
ever, many observers have pmnted oul
that while_jupaad s certainly innova-
Uve, it Is a vesponse to the lack of an
innovatien culture-more a survival or
coping mechanidm ai a time of need
than a systematic nizthodology to ef- .
fectively address a wide-ranging, com-
plex sel of problems.,

Another apecifically Indian ap-
proach to'innovation that has entered
irito wide exrrency of late is so-called

-ruga] innevation,” deemed by many Lo
Lie il miost appropriate for the Indian
context. In its midterm assessment of
ihe’11th five-year plan, the Planning
Commission stressed the need lor in-
novation in Indla in order Lo ‘acceler
ate its growth and to make growlh more
inchusive as well as environmentally
sustainahle.” The document went on to

- say that ‘Indla needs more frugal inno-

vatidn that produces more frugal cost
products and services that are afford-
able by peapleat low levels of iIncomes
without compromising the safety, ef-
ficiency, and utility of the products,
The country also needs processes of
innovation that are frugal in the re-
spurces required to produce the Inno-
vations. The products and processes
must also have frugal impact on the
carth's resources.’

Two people furmulated a similar
theory called the More-from-Less-for-
More (MLM theory of Innovation) theo-
ry of Innovation, which advocates a
focus on innovations that allow for more
production using fewer resources but
benefit more people. Under this rubric
come prodlucts that are more afford-
able versions of existing lechnologles.
While both frugal innovation and the
MLM theary are certalnly valuable in
terms of bringing affordable products
and scrvices to a greater number of
people, and may even be considered a
necessary first step on Indla's innova-
tion path, they barely graze the sur-
face of whal e atlon can accom-
plish. That is, innovation is capable of
bringing about complete paradigm-
shifts and redeftning the way we per-
celve and Interact with the warld.
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Take the cell phone. for exam-
ple ¢ it revolutionized communication
in a previously lnconcelvable way,
provided consumers with a product of
unprecedented value and created an
entirely new market. The cell phone
was a result of years of directed, in-
lentional innovation efforts and large
investments, and would not have ever
been created if the people respansible
simply set out to make the existing tele-
phone cheaper and more accessible Lo
all.

While jugand and frugal innova-
tion may be indicative of the Indian
potentlal for innovativeness, this po-
lential is not ulilised or given opportu-
nity to flourish due to the lack of an
enabling culture,

India’s many diverse and com-
plex needs can be met only through
syslematic innovation, and major shifts
have Lo first take place-in our educa-
tional institutions, government policies
and comumerclal firms In order for such
an innovation-enabling culture to come
about.

The one thing that India’s inne-
vation theorists have not said is that
the absence of a culture of innovation
is intrinsically linked to many gf the
most intractable problems facing In-
dia as a nation. These include poor
delivery of government services, inad-
equale systems of personal identifica-
tion and the absence of widely avail-
able linancial services for rural poor,
health and sanitation failures. This list
can go on. Cumulatively, the inability
of India as a nation, society and econ-
wmy to adequately provide for its own
population no longer reflects a fatlure
of implementation, but rather of a fail-
ure of innovation, for there 2re nat
immediately-available off-th-shelf so-
lutions thal would make it possibie fur
these grand challenges facing India to
be redressed. Rather, we need tolock
al these intractable problems from the
more sophisticated arid empowering
lens of innovation, for them to 2gin to
be solved.

88. Which of tlie following deplct/s
the growing importance of inno-
vation i \ndia?

(A Tricreased investment in re-

SeAG
B nitds - n of Government
" backed: . for Innovation

(C) Increase in number of con-
ferences arranged and arti-
cies writlen on innovation.

87.

(1) Only (B

(2) Only (A} and (B}

{3) Only (C)

(4) Only (B) and (C)

(5] All {A), (B) and (C]

Which of the following best de-

scribes the MLM theory of inno-

vatdon?

(1) Maximise output by using
least number of resources
and beneliting a small num-
ber of people.

{2 Maxdmidse resource utilisation

and cost thereby benefil max-
imum number of people.

(3) Minimise output and resource
utilisation, yel benefit the
maximum number of people.

(4) Benefit most number of peo-
ple through least usage of
resources and masdmum onst-
put.

(5) Benefit most number of peo-
ple through maximum usags
of resources and minimising
Ccosl.

Which of the following is possi-

bly the most apprapriate iitle for

the passage?

(1} Innovation AL s Besat

. 12) India And The Elxir Called

[L118

Inncvation

[3) Tnnovaiion Around The World
vis-a-vis Indla And Other
Nelghbouring Countries

(4} Worldwide Developments [n
lnnovation

i Inovation - The History

Whal tone is the author employ-

{ag in the entire passage (o gel

his message across?

(1) Pessimistic

(2) Sarcastic

(3) Urgent

(4) Informative

(5) Dubious

Why, according to the aulhor, is

India unable to adequately pro-

vide for its people?

(1) Failure to Implement
schemes and initiatives
meant far the Indlan popu-
lace.

(2) Absence of regulatory au-
thorities to oversee the Im-
plementation process.

(3] Fallure to innovate in order
to find solutions. .

a1.

4) Lack of governmeniai
schemes and initialives lo
recdress Lhe challenges (need
by India.

{3) Hesilance of the Indian peo-
ple in trylng out ditferepd
schemes provided by the
Goyernment for uplifiment.

Why, according to scme people,

Is Jugaad' nol the apswer Lo In-

dia’s problems’y

(1) Many a limes Lthis methodol-
opy backfires leading Lo lur-
ther complications.

(2) Jugaad provides only cheaps
solutions to all problems.

[3) 1 is Yeactive and nol a pro-
active and organised method
ol finding solutions Lo proh-
lems.

4) It can provide solulions Lo
only simple problems and notl
complex ones. '

(5] None of these

Which ol the lollowing is/are

true about the cell phone?

{A) The innovation of the cell
phone required invesiment of
huge capital.

(B) The cell phone, when invent-

ed was meant Lo be afford-
able Lo all.

{C) The cell phone was made

- avallable to the public in a
very short time [rom s ide-
ation.

(1) Only (A)

(2} Only (A) and (B)

3 Only (B) and [C)

(4) Only (B)

(5) All (AL (B) and (C)

Whal does Lthe author mean by

‘frugal impact on the earth’'s

resources’ as given in the pas-

page?

(1} The damage Lo Lhe enviran-
ment should he assessable,

[2) More consumption of naturmal
respurces as compared Lo
manmade ones.

{3) Minimum impact on the en-
vironment in terms of poliu-
tion.

(4) The impact on the environ-
ment should be such thal it
is reversible.

{5) Minimum usage of earth's
natural resources.
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Directions (84-88) : Choose the
word/group of words which s most

similar in meaning to the word/ group
of words printed in bold as used In

the passage,

64. REDRESSED

(1) addressed

(2} equalised

(3) restored

(4] redane

{5) rearranged

CURRENCY

(1) notes

(2) usage

[3) money

(4) cash

(5) value

INTRINSICALLY

(1) internalty

(2) whole-heartedly

(3) fundamentally
(4} virtually

(5) unavoldably
INDICATIVE

(1) causative

(2} forthooming

(3) verhal

(4] abstract

(5] suggestive
COMPROMISING

(1) co-operating with

(2) reducing the quality

{3) hampering the progress
(4) conclliating in order Lo
(5) adjusting for the better
DHrections (99-100) : Thoose
the word/group of words which/is
most opposite In mearing to the
word,/group of words printed in bold
as used In the passage.

99. LACK
(1) presence
(2) sufficlent
(3) charisma
(4) adequacy
(5) dearth
INCONCENABLE
()jvisible
(2} trnihiul
{3} incredible
(4} apparent »
\5) corhplex

GENERAL AWARENESS
(With Special Reference to
Banking Industry)

101. Who among the following is one
of the reciplents of the Nobel
Peace Prize-2011 7
(1) Ellen Johnson Sirleal
(2) Jules A. Hoffmann
(3) Bruce A. Beutler
(4) Adam G. Rless
(5) Tomas Transtromer

102. The Food Securlty Bill-2011
which Is In the process of be-
coming an Act, divides the en-
tire population of the country into
two groups. Which of the follow-
ing are thess two groups?

(1) Below poverty line and Above
poverty line

(2) General population and Ex-

cluded populaticn
{3) Included househslds and
Excluded household
{4} Covered umder FDS and Mot
Covered under FOS
{5) General househoids and pr-
arity households
RBI has recently deregulated the
rates of interest fo be provided
by various Banlis to their depos-
o/ customers with effect from
£5.1%.201 7 on their ac-
courts,
(1) Time Deposit
{2) Seving bank
(3] Loan
4) Fixed deposit
[5) Current
4. Which of the following is the
main advantage of "ASBA" with
the applicanis for share allot-
ment?
{1} ASBA applicant has got se-
cured allotment of shares
(2) ASBA applicant has got cer-

10e3.

tain preference in allotment

of shares as compared (o
general applicants

[3) ASBA applicant need not re-
mit the fund for allotment of
shares, he/she will do so af-
ter shares are allotted to him/
hcr +

{4) ASBA Applicants deposit/OD
account is not debited, only

the funds are blocked for the

GrEAmbitionZ. com

same and he/she conlinues
to avall interest till the shams
are allotted to him/her

I5) None of these

108. “Many people die in Deadly

Games in Egypt” : Was the news

in almost all major newspapers

in February 2012. Which ol the
following statemente Is ine cor-
rect representation of ‘Deadly

Gamg' given in the headlines?

(1) A rlot broke oul during a
Football Match in Egypt in
which many people were
Rullied

i2} Police lad to open fire on a
Mob lncluding some genuine
tickét holders, who were not
allowed to enter the Stadium
even after the start of the
muaich

43) Egypt i famous for its dan- .
gerous games of "Bull Fight'
and ‘Martlal Game’; Many
participants die every year in
such games

{4) Some terrorists opened [ire
during a football malch,
About 1000 peaple were
killed in the incident

{5) The defeat in the game Is
considered eguivalent Lo
death

Mullaperiyar Dam which was
recently in news, is located in
which of the following States?
(1) Maharashtra
(2) Karmataka
(31 Andhra Pradesh
(4} Kerala
{5) Tamdl Nadu
Like telephone /Mobile number
portability, the Ministry of Fi-
nance/RBI is now alac consid-
ering to provide bank account
number portability to bank cus-
tomers, Which of the following
would it mean?

(1) Any customer/account hold-
er can withdraw cash from
any other Bank through his/
her own cheques drawn an
other bank even without ATM

(2) Any borrower can draw
funds from his/her loan ac-
count from any other bank
also

[3) The account number of any
account holder will remain
the same even if he/she is
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getting his/her account
transaferred to another bank
also. _

(4] Bank customers would have
the facllity of mobile Banks
towlthdraw cash nearby his/
her place

(5] None of these

108. The total number of Kisan Cred-

it Card holder farmers ln our

. country Is
(1) B Crores (2) 10 Crores
(3] 5 Crores (4] 7.5 Crores
(5) 6 Crores
NRE deposit is
[1] Mon Resident External depas-

it

(2) Non Resident Extra deposit

110,

11l

112,

{3) Non Resident Exchange de-
posit

(4) Non Refundable External de-
posit

(5] Non Resident Extended de-
posit

What Is offshore banking?

(1) It is a bank located In the sea
(Le. Island)

(2) It is a bank located In SEZ

(3) It is a bank located in a
neighbouring country

(4) It 18 a bank located outside
the country of residence of
the depositor

{5) Offshore banking is basical-
ly dealing in forelgn exchange

Maoists in which of the follow:

ing countries recently decided to

accepl Government's offer of

‘Golden Handshake' and enfer

into ‘civilian life’ or mainstream

of the society?

(1) Myanmar (2] India
(3) China (4] Nepal
(5) Bhutan

Which of the following is eor-
rect?

(1) Hliterates cannot open any
account In a bank

(2) litersis wamen cannot open
any atcount in a bank

(3) Viliieraies can open savings
bani ascounts in abank

{dj Advanece can be granted to a
minor ¢

15\ Advance can be granted to a
minor il he is of sound mind

113. As per newspaper reports west-

114.

116,

117.

emn countries are going to impose
sanctons on which of the follow-
Ing OPEC countries as it is said
that it is trying to make a nucle-
ar bomh?

(1) Kuwalt

(2 irag

(3) Iran

{4) Saudi Arabia

(5} Angola

“The Reliance Industries Lid.
[RIL) hae decided to retum some
'KG' [elds to the Government of
India® was the news In some
major newspapers. What Is the
major production In KG fields
owned by RIL ?

(1) Crude oil (2) Gas
[3) Coal (4) Iron or=
(5) Gold are and Diamonds

Non convertible debentuies

are

(1) Debt instruments which ac-
quire equity status at the is-
sucrs’ option.

(2) Debt instrumaents which ac-
quire equity siatus atithe in-
vestors' option,

[3) Debt in=trumenis which ac-
quire rgulty status with the
permizsion of Registrar of
Companies,

[4) Debt Instruments which ac-
guire egaity status on matu-
rity.

[5) Deht (nstruments which re-
tein their debt character and
cannol acquire equity status,

Tndia’s Dipika Pallikal and Sarah
Cardwell of Australia recently
played an international match in
Chennai. Both of them are ___
(1) Badminton players
(2] Golf players
[3) Chess players
(4) Squash players
(5) Table tennls players
“IRDA norms will boost online
distribution” - was the news in
some major newspapers. This
means online distribution of
which of the following will boost
up ?

{1) Bank products

(2) lnsurance policles/ products

{3) Licensesto open.new banks/
branches of exlating banks
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118.

120.

{4) Licenses to operate 20G/3C
spectruma |

(5) Permits for export of irein ore

‘Lajja’ is a book written by ___

[1) Salman Rushdie

(2) Taslima Nasreen

{3 Sunil Ganguli

(4) Rabindranain Tagore

(3] Bimal Mitra

To prevent frauds in multiple

martgage cases, under SARFAE-

SUAct, 2002 one special thing

tias been created and made op-

erative from 01.04.201 1, Which

one is that from the following?

{1} Special Registrar Office ar
Lacinow

{2} Special Central Arbitration

Bureau at Lucknow

|3) Central SARFAESI Tribunals

‘at & Centres

(4) Central Electronic Registry

(5) State Electronic Registries

5SB! has merged which of the

following two assoclale banks

with ltsell 7

(1} State Bank of Hyderabad and
State Bank of Patiala

(2) State Bank of Hyderabad and
State Bank of Travancore

(3) State Bank of Mysore and
State Bank of Travancore

(4] State Bank of Indore and State
Bank of Hyderabad

[5) State Bank of Indore and State
Bank of Saurashtra

121. Assembly Elections took place in

which one of the following States

recently? (in January 2012 )

(1) Madhya Pradesh "

(2] Maharashira

(3) Kerala

(4) Punjab

15) Tamil Nadu

Which one of the following is not

a sallent feature of Debil Card?

(1) No bad debts to banks and
no sults for recovery

(2) No interest caming for banks

[3) Works like a normal withdraw-
al

(4) Can be used at ATM and POS

[5) 45 days credit is given to the
card holder

Banks lssue a letter to benefi-

clary on behalf of its constitu-

ents llke guarantee for making
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payment on thelr behalf on ful-
fillment of its terms and condi-
tions. What is this arrangement
known In banking context?
(1] Line of Credit
(2] Loan to Client
{3) Loan on Credit
(4) Loan against Credit
(5] Letter of Credit
As per Financial Incluslon drive
one of the following Banks in-
troduced Tiny Cards with Bio-
metric |dentification. Which of
the fnl]nwlng i= that Bank?
(1) Central Bank of India
{2) Oriental Bank of Commerce
(3) Indlan Bank
(4] State Bank of Indla
(5) Bank of Maharashtra
World leaders are to assemble
in Rjo de Janelro in June 2012
for the United Nations Confer-
ence on Sustainable Develop-
ment [(Rio + 20). All nations are
going to make some commitment
towards the goal of the confer-
ence. As per the agenda circu-
lated. what commitment do
world leaders want from India
in the Conference ?

(1) India should agree to double
its energy effliciency under a
global understanding

(2] India should suspend its nu-
clear pact with USA or atle-
ast should reduce it to 50%
level of agreed capacity

(3) Nuclear power plants arc |
highly risky as seen in Ja- |

pan recently. Hence no new
plant should be madz

(4) India has a vast regsource of
coal, It must share its coal
resources with other coun-
tries to enable them io pro-
duce thermal power which
they are not doing so fir due
to lack of coal mines there

(5] None of tliese

Who among the following ts the

recipient of the Padma Vibhus-

han given in 2012 7

(1) Late (D) Bhiupen Hazarlka

{21 Sri Vanra) Bhatla

(3) S Javed Akhtar

4} Sri Amitabh Bachhan

15} Smt. Ambika Soni

127.

128.

130,

131.

Under the liberalised scheme of

interest subsidy, Government of

India provides interest subsidy

on housing loan at the rate of

(1) 0.50%

(2) 1.00%0

(3) 2.00%

(4) 2.00% + 1.00% for prompt
repayment

(5] None of these

‘When a Bank provides a loan for

purchase of white goods, it 1s

categorised as ___

(1) Consumpticn loan

{2) White Goods loan

(3) Consumer Durable loan

(4) Working Capital

(5) Bridge Loan

India has decided to acguire

Rafale Fighter planes for its afr-

force wing. Which country is

going to supply Rafale figiter

planes ?

{1) Italy (2) Britain
[3) Canada [4) France
(5) Germany

Which of the following state-
ments aboul coniribuilon (ap-
proximatelyj of agriculture sec-
tor in G is correct?

(1) Agricalture contributes 50%
of total GDF

t‘-& -l!-h, iiture does rl.ﬂtml‘.rlh-
ute sigrificanily to India's
G0P as the share is less than
1'%%

13! India’s GDP'does not take
agricultural-sector Into ac-
count

(4) Agricultural Sector is the part
of Service Sector. Hence it is
» not considered as an Inde-
pendent sector

(5) Agricultural Sector contributes
20% in India's GDP

Banks are considered as ‘finan-

clal intermediaries’. Which of the

following activity correctly and
comprehenslvely explains this
role of banks?

(1) Accepting deposits of money
for the purpose of lending
and investment

(2) Granting loans to the weak-
er sections of the soclety

(3) Accepting money for remit-
tance. and issuing bank
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133.

L.

135,

137.

(4) Providing safe deposil servic-
43

{8) Opening accounts and ac-
cepting deposits therein

The rate below which banks can-

not generally lend is cailed as

(1) Basc raLe

(2) Floor rate

(3) Repo rate

(4) Call money rate

(5) Celling rate .

Ag/per the data released by the

Unlon Health Ministry (of India)

the infant moctallty rate is low-

estin \_\_

1] Tamil Madu

{2) Maharashtra

{3} Gra

(4] ttar Pradesh

(5) Madhya Pradesh

‘Dada Saheb Phalke Awards are

given by the Ministry of __

(1) Social Welfare

(2) Corparate Affairs

(4) Home Alfairs

[4) Human Resource Develop-
ment

(5) Information and Broadcast-

ing

Which of the lollowing is not n

type of Chegque?

(1) Crossed chegue

(2) Blank cheque

(3) Speed cheque

(4) Bearer chegue

(5] Order cheque

Mr. John Key is the present

(1) Prime Minister of Canada

(2) Prime Minister of Australia

(3) Prime Minister of New Zealand

(4) President of Australia

(5) President of Canada

In refation to banking, what do

you understand by * Ever-

Greening of loan Account™ ?

(1) Full repayment of a loan ac-
count before maturity - Pre-
payment

[2) Full repayment ol a loan ac-
count exactly al maturily

(3) Fresh Loan sanctioned dur-
ing the tenure of account for
enhancement of Umits

{4) Adjusting the NPA / Sticky
account with fresh sanction
of loars

-{5) Loans provided for new

projects to new customers
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Which of the following Is the
name of an autonomous organi-
satlon for rural technology?

(1) CAPART  (2) MGNREGA
{3) PURA (4) IRDP

(5] NGAPS

139. With aview to facilitate payment

140.

141.

of balance in deposit account Lo

the person named by the depos-

itor without any hassles in the

event of death of the account

holder, the following facility was

Introduced in pank accounts in

our counlry.,

(1) will

(2} Registration

(3) Nomination

(4) Indemnity

(5) Guarantes

Which of the following countries

Is NOT a member of ASEAN 7

(1) Thalland  (2) Myanmar

(3) Singapore  (4) Vietnam

(5) Brazl

Which of the following is not a

Negotiable Instrument?

(1) Cheque

(2) Fixed Deposit Recelpt

[3) Promissory Note

(4) Bl of Exchange

{5) All'{1) to (4] above are ncgo-
tiable instruments

142. Which of the following Stock

Exchanges in Indla recently

. launched “Carbor Index” so that

143.

investors can assess risk and
opportunities associated with
climate change?

(1) Delhi Stock Exchange

(2) National Stock Exchange

(3) Bombay Stock Exchanse

(4) Kolkata Stock Excliange

{5) Ahmedabad Stock Exchange
Which of the following would be
the venue of the World Ailletic
Champlonship 2013 7

(1) New Delhl  /2) Tokys

(3) London |4) Paris

[5) Moscow

Who amorg the fallowing repre-
sented 4ndia in 17th SAARC
Summiit hedd at Addu in Maldives
in Novermber 2011 7

(Vi Smat. Sonia Gandhl

{2) Dr. Manimohan Singh

(3) Shri Pranab Mukherjee

14 5hri P Chidambaram

{5) Shri Rahul Gandhi

148,

1486.

147.

148.

14e,

What is the maxiznuam balance

amount that is eligible for earn-

ing interest in a normal savings

bank account?

(1) 21lac

(2) T 2lacs

(3) 7 3 lacs

(4) ¥ 5 lacs

(5] No limit

When a customer opens a De-

posit account with the Bank,

which one of the following is the

status of the Bank?

(1) Debtor [2) Creditor

(3) Trustee (4) Beneficlary

(5) None of these

Which of the following states

decided to give Khatedharl

Rights to about 30,000 farmers

occupying the custodian lands?

(1) Gujarat (2) Rajasthan

(3) Madhya Pradesh %

(4) Uttar Pradesh

(5) Uttarakhand

Which of the followlng lunctions

are not being performed by the

Reserve Bank of India?

(1) Regulatiop of Banks in India

(2) Regulation of Forelgn Direct
Investment in Indla

(3) Foreign Curréncy Manage-
menl in indig

{4} Control and Supervision of
Maney Supply

(8 Curresicy Management in In-
Ha

A barik 15 called as ‘Scheduled

Bank' when ____

1) Its business has crossed
#1000 crore mark

{2) Its branch network is over
100

{3) It ls Inciuded in the second
Schedule of the RBI Act

[4) When IL complies with all the
three above

(5) None of these

Australian Government recently

decided to sell Uranium to In-

dla. Uranium is used mainly for

{1) manufacturing of chemical
fertilisers

(2] manufacturing of Drugs/
Pharma products

{3) nuclear power generation

(4} making arsenals

(5) making e

chips
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== ANSWERS —

1. (3) 2. (4) 3.(2)] =4
B.()|] 8@| 7.6| 8@
.t | 10.6| 106 w2 @
13. (4 | 143 ] 1851 16 (4)
17.(1) | 18.(3)] 18.[2}] 20.(3)
21.(2) | 22 (4)]| 28.21| 2415
28, (3| 2. (5| 27.(3)| 28.(1)
20. (4| 0. (5 31.[4)| 32.(3)
33.(5) | 34 (2j| 38.(1)] 36 (1)
27/(1)) 38.(3)| 39.(2)| 40.(5)
anoil ez o] )] e
a5.12/| 48.(5)| a7.14)] 48.(1)
45.01)| s0.(a)| s1.(4)] 52.12)
1 783.(1) | B4.(2)| 86.(4)| 56 (5)
867.(1) | B58.(3)| 59.(5| 60.(3)
61.(5 | 62 (5| €3.(3] 84.12)
8s.(5) | 86.(2)| 67.(2)] e8.(1)
6. (11| 70.(1)| 71.(2)| 72.18)
73.(1) | 74.(3)| 75.(4)| 76.14)
77.03 | 78.(1)| 7Te.(3)| 80. (3]
81.(4) | B2.(3)| 88.(5)| 84.(2) |
8s.(5) | 86.(5)| 87.(4)| 88.02)
89.(2) | ®0.(3| o1 (3| 82.12)
83.(5) | 94.(1)]| 96.(2)] 86.(3)
97.15) | 98.(2)| 98.(4)|100.(4)
101. (1) | 102. (5) | 103. (2) | 104. (4)
105. (1) | 108, (4) | 107. (3) |2108. (2)
109, (1) | 110. (5] | 111. {4) j112. {3)
113. (3) | 114. (1) | 118, (5) | 116. (4) |
117. (2) | 118, (2) | 119. (4) [120. (5)
121, (4) | 122. (5) | 123. (5) |124. (4)
128. (1) | 126. (1) | 127. (2) [128. (3)
129. (4) | 130, (5) | 191. (1) |132. (1)
133, (3) [ 134. (5) | 198. (3) [138. (3)
137. (4) | 138. (1) | 139. (3) | 140. (5)
141. (5) | 142, (3) | 143. (5) | 144. (2)
148, (5) | 146. (1) | 147.(2) | 148. (2)
140. (3) | 180. (3)
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= EXPLANATIONS BE=
1. 3 ;

TEAMWORK—NBFUJQNV

. F
| | st

+1

+1

+1

=1

= |

-1

ME

TDL

—

e /1

PERSON—5F M N
+1 T

+1 F

+]

-1 .
-1

1921 2 1920 1 14 3 §
5 UBSTANTCE

s. (21 2[3]4[5]6[71&[9]
s Tle|a o/ F |a]s|7]

Meaningful Word = DATE
4. (I)B s

2. (4

T
4 4
3 1
1

e B
%* —-mF —R
B/ =0 2 —m

g-—l——lmf—
=
3

L =l
- /=32

=
-
-
—
3

27 5

L |
[

(=]

W
=]

2 -4
6. (4) T——E——=R

u—2 42 0
-t Dt oY

N i L

7. 19

Number or
Symbol
Such combinations are: .

Maw]|. [U54]; [16@©];
[D8%]: [N73]

Letter

Number

B. (2)

R ;4 36 ;4 8 2]
& +68 i Lo N ll]

T- v 31 N

1 L + B g8 Iig..]

2. 13

[ Numberl Gymbol | Letter—i
Such combinations are

10. (5) Tth to the =i of 20th from
the left end means 13th from the
ieflt end, ie.. ¥ .
11. (5} From botli the statements
PN=T>=M>R
1%, [4) From both the statements

}FDIIEEEDM —hpa@sa
he fwill beJthere — ja da

13. (4) From statement [

‘It Is not given, the brother of
Sushant visited Chennai on
which day.

From statement I1
Sushant visited Chennai on
Monday, Tuesday, Thursday,
Saturday or Sunday.

14. (3) From statement 1

North

Siarting Point
M

20m

West East

_South

adm °

_~

20m

From siatement I

Startihg ot
30 m 5

20 m

30m

158. (5) From both the statéments
Z avd P are sisters of D anul K,
K i= hrother of £:
(16 -2 :

Sm3 Bt | #=>

Y2y | B==

18 MR =R>J
JED=J2D
D@&K=D=K
K% T=K=zT

Thcrc[orc.R;.ljaD=R:,T

Conclusions :

I. Ti#D=Tz=>D:Not True

. T@D=T=D: Not True
Either I or Il is true.

NM.REK=R=>HK: Truc

W.JST=4J 2T : Nol True

17- () T% R=T<R
RSM=R=M
MED=M=D
DEH=D<H

Therelore, T<sRzM=D<H
Conclusions :

. D% R=D<R:True
II. H# R=H > R: Nol True
IL.T®M=T<M: Not True
IV.T% D=+ T = D: Nol True

18. BIM&B=M=8B
Bi#N=B=N
NER=NzR
REK=R=<K

Therelore, M=B>NzR<K
Conclusions :

1. K#B=+K=>B"‘Nol True
. REB=HR<B:True
L.MSR=MzR: Not True
CIVNEM=N<M:Troe

19. ) FéiH=F=H
H&M=H=M
MOE=M<E
ESd=EzJ

Therefore, F>xH=M < E > .
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Concluslons : :
I. JOM=J <M : Not True
. E#H=E>H:True
NMMEF=M<F:True
IV.F#E=F>E:Not True
20 BIDWA=DgA
A@B=A=8B
BEK=B<K
KW%M=K<M
Therefore. D= A=B<K<gM
Conclusions :
1. BED=Bz2D:True
. KN A= K>A: True
NnmM#B=M:>B:Trus
IWADM=A<M: Truc
{31 - 36) : From the given input and
various stepa of rearrangement
it is evident that In the first step
one number is rearranged and in
the next step one word ls
rearranged. These two steps are
continued alternately till all the
numberas get arranged In
ascending order and the words
get arranged In  reverse

alphabetical order.
a1 (2)

Input : & open shut door 31 49
45

Stepl: 31 86 open shut door 48
always 45

Step Il : 31 shut 86 open door 49
always 45

Step [N : 31 shut 45 85 open door 49
always ;

Step IV : 31 shut 45 open 86 door 49

Step V : 51 shut 45 open 49 86 door

Step V1: 31 shut 45 open 49 door B6
always

22. (4) It is not poasible to determine
the Input from any given siep.

3. (2)

Step Il : 18 win 71 34 now If victory
61

Step Il : 18 win 34 71 now { viciozy
61

Step IV : 18 win 34 viclory 71 now If
81

Step V @ 18 win 34 victory 81 71 now
I

Step V1@ 18 vin 34 viciery 61 now 71
if

24. (5)

Input : swvhenw 47 38 12 are they going

o . v

Stzpl: 12 where 47 58 are they
folng39 ;

Step l : 12 where 30 47 59 are they

- golng -

Step Il : 12 where 39 they 47 58 are
golng

Step IV : 12 where 39 they 47 golng

' 59 are '
28 (3)

' Step Il : 33 store 81 '?Efullnfg'mdu

34. (2) Clatravelllng In Car Y.

38. (1) The passengers of Car Y are
travelling to Chandigarh.

38. (1) Option (1) may be a probakhle
reason for the State
Government's decls!zia.

52 37. (1) Option (1) may be & best
Step [11: 33 store 52 81 75 full of | ~  possible reason.
goods 88. (3) Option (3) mzy be & possible
Step IV : 33 atore 52 of 81 75 full action.
goods 38, (2} Cption (2) may bz a follow up
- Step V : 33 store 52 of 75 81 full mraslre,
. goods 40. 1z CpYon (5 would weaken the
‘ good findings of the study.
Sep Yl ?:instm'c e L 41. (5) The follwaing cl;an,qﬂ oceur
i in the subsequent figures :
fro-00 z (1) to(2) (2) to (3)
Candi- Conditions 15) to {5)
date | (1)](w) or (a)f ()] (V) or ] &)
Rta [/ | —=|¢|v |—|¥ R,-Nl- s—38_ N
Ashok ||| —|« | — |+ |+ /\ \
Alok K|/ | —|F | =] . .
Swapan|«'| —| V|V | ¥ | — |/ / '\/N
Seema |/ |/ | — |/ |¥ |— 1+ —a" ¥ N eE e
26. (5) Rita Bhatt satisfies al! the ey
conditions, Tharefure, ahe would (@) o4} [4) to [5)
be selected. =
7. (3 Ashok Pradhan sutisfies N sN o N»
conditions {1}, {14, (1), fo) and (v). / //' \
Therefore, lis case’ would be M .
referred 1 Frestdeat — HR. .\ / "‘\ l
28, (1) w;?nnimmnunﬁr N e Ne oN doe—d |

3

(4! Swapan Ghosh satisfles

conditdons (1), (a), (i), (b and (v). }

Therefore, his case would be
referred to GM-HR.

30. (5} Seema Behl =satisfies
conditions (1), (1), 1), (v) and (v].
Therefore, she would be selected,

(31 -38):

il

Yriend | Bex |Car |Destination
A |Female| Z |Agra
B | Male | Y |Chandigarh
Cc M/F | Y |Chandigarh
P |Female| X |Delh
E M/F | X |Delhi
F  |Female(X/Y |Delht or
Wﬂ
G Male X Delhi
H Male Z| Agra
31. (4) The sex of C and E Is not
known.
32. (3 None of the combinations ia
true.
33. (5) Four of them may be
travelling in Car X.
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42, (3) The following changes occur

in the subsequent figures :
(1) to(2) (2) to (3)
13) to (4) 141 to (5]
(5) to (8)

e

43, (1) The following changes occur

In the subsequent figures :
(1) o (2) (2] to (3)
(3) to (4) 4 to (5
(5) to [6)
| o -i-—T f—bl »
. L] -ﬁ;
é—' [ ] - '.‘_4
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#4. 2) In the subsequent figures the
clrele moves respectively one and
a hall and one step in

dnficlockwise direction alternately
while the arrow rotates through
135" and 90° clockwise
alternately.

48, (2} In each subsequent figure
four arrows are inverted in a set
order.

48. (5) The following changes occur
in the subsequent figures :

(1) te(2) (2) to (3)

(3 to (4) (4) to (5)

(5) to (6]
= R
. "— e T s —yp
Lo T,

47. [4) From Problem Figure (1) to (2)
the two designs from the left
. move to the right and the two
designs from the right move to
the left. From Problem Figure (2)
to (3) all the four deslgns are
inverted and the two deslgns from
the right and left interchange
positions. From Problem Figure
(3) to (4} the two designs from
the left are Inverted and the third
design from the left moves to the
extrems left position. These three
steps are continued in the
subsequent figures in the same
arder.
(1} In each subsequent figure two
palrs of designs remain at their
positions. while other designs
interchange positions with thelr
adjacent designs.
(1) The fallowing © 355 OCCul
in the subsequent figures:

(1) to (2) (@) to (2)
(3) to (4) (4] to\5)
(5] to (6)
L] L] [ e £ L]
. i‘\ | Ia
+ )
. . . = »
A \
" —w 4--.*-‘} Lﬂ-——i‘—--

B0. (4] Iri the subssquent figures the
asierisi moves one and one and
a hadf ateplis) in clockowiae direc-
tion alternately, the design (T)
rotaics through 20° and 135°

71,

74,

d

3

3

8

81,

A%

clockwise alternately while the
design (4) rotates 45° and 90°
anticlockwise alternately.

(2) Facts speak louder than
words means : truth is stronger
than invented story.

(2) Eill the goose that lays the
goldenm egg means © to destroy
something that would make you
rich, successful ete. .
(1) Don't count your chickens
before they are hatched means :
you should not be too confident
that something will be success-
ful because something may still
£0 Wrong,

(2) Here, the popular show will
end/ended i.e. Past Simple/Fu-
ture Indefinite .... should be
used.

(1) Here, Showing/sharing crime
statistics for .... should be used.
(3) Here, footprints un fte sur-
face would .... should bz used.

(4) Here, made him walt and ., .
should be used.

4) Here. of a strong product
pipeline .... should be used.

(3) Here, bezn apprebeaded and
is .... showld be uszd.

(1] Here, the rose growers in ...
should be used as growers (Plu-
rall is iolloweri by a preposition.
(31 Hére, when three different
<o SHowd be used

. {3) Here, the growth that had |

folleraed .... should be used

14) Here, the ear that gets dam-

aged with age .... should be used
(3) Here, the prevention of un-
timely deaths .... should be used
(2) Here, police team was given
the photograph .... should be
used

(1) The word Redress (Verb) |

means : to correct something

that Is unfair or wrong; put rght;
addreas

[2) The word Currency (Noun)
means : the fact that something
is used or accepted by a lot of
people; usage.

(3} The word Intrinsically (Ad-
werb) means : really; lundamen-
tally: Ky o

87, (5) The word Indicarive (Adjec-
tive) means : showing or suggest-
ing something: suggestive.

88. (2) The word Compromise [Verb)
means : reducing the quality: io
do something that doss nol
reach the standard.

98, (4) The word Yack (Noanm)
means : dearth/ the state of not
having excess of something.

Its aptonym sould be sdequacy.

100. (4) Tiie word Incraeeivable (Ad- |
Jective) means : gmpossible o
imagine o belicve; unthinkable;
incredible.

5 antonyr should be apparent.

101/{!) Likerian President Ellen
Johnson Sirleal, Afrfea’s first
elecied womar President, her
campatriof, peace aclivisl Ley-

"mah Ghowee and Tawakul Kar-
man of Yemen, received Nobel
Peace Prize on December 10,
2011.

102. (5) The Food Security Bill-2011
tabled In the Lok Sabha on De-
cember 22, 2011, divides the
entire population of the country
Into two groups : General House-
holds and Priority Households.

103. {2) The Reserve Bank of India in
its Second Quarter Review ol
Monetary Policy for 2011-12 on
October 25, 2011, deregulated
the Savings bank deposil inter-
est rate with immediate effect.

104, [4) ASBA : Applications Support-
ed By Blocked Amount

108. (1] A blood bath at a foothall =sta-
dium in the Egyplian city of Part
Sald triggered cascading protest
against ruling military authorities
on February 2, 2012. &

108, (4) Mullaperiyar Dam in Kerala Is
under Tamil Nadu contrel for 999
years under an agreement be-
tween the British and erstwhile
Travancore royal family.

107. (3) Bank account number porta-
bility means the account number
of any account holder will remain
the same even If he/she Is get-
ting his/her account Lranaferrgg
toanotherbank. . ' "

108. (2) There are 10 crires Kisan
Credit card holder farmers
against'4.82 crore farm loah aé-
counts. - trhon
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108. (1) NRE : Non-Resident External

110. [5) Offshore banking refers to the
internatonal banking business
involving non-resident foreign
currency denolsd aseets and lia-
bilitles,

111. (4 The political partics of Nepal
on November 1. 2011 agreed Lo
integrate, some Maolst combat-
anta inlo the Nepal Army and
provide rehabilitaiion and cash
parkages to the rest

112. (3) Miterates can open savings
hank arcounts in a bank, ~

113. (3) Iran is facing the threat of
sanclions for s nuelear pro
gramme,

114. (1) Eaveri-Godavari fliclds give
crude oll. *

I15. {5) Non-convertible debentures
are auch debt instruments which
retain their debl character and
cannol acquibne equily status.

116. (4) Dipilc Pallilal and Sarah Card-
well are squash players. Egyvpt
scripted a 2- 1 win over India in
the final of the SDAT-WSF Un-
dor-2] Wold Cup Squash in
Chennal on February 5, 2012.

117. (2) IRDA (Insurance Regulatory
Development Authority] isrelat-
erd Lo insurance sector,

118, (2) Taslima Nasreen is the author
of 'Lajja’ (Shams) Bangladeshl
author, Ms. Nasreen lives In ex-
ite under atate protection in In-
dia. In 1993, ‘Lajja’ was banned
in Bangladesh.

119, (4] Central Electronle Registry,

120. (5) On August 2, 20011 the Gov-

» ernment cleared the proposal for
merger of State Bank of Hyders-
bad andl State Bank of Patlala with
State Bank of India itsell. State
Bank of Saurashtra was mzrgesd
on September 13, 2008 and that
of State Bank of Indors in 201
with Staie Bank of India,

1Z1. (4] Assembly elections took place

* In Punjah an January 30. 2012
for the 117 séars.

122. (5) No crecdit {s given to Deblt card
holdler.

123 |5) Lettz#r of credit-is a method of

pavment widely used in the Q-

nane ol foreign trade, where gne

bank aulthorizes another bank

ibroad 1o make a payment to a

specific person. Letters of credit

—_armnof negotiable.

124. (3) Siate Bank of Tndia on Novemn-
ber 13, 2006 launched country’s

first Tiny Cards with Biometric
Identifications In Alzwal, Mizoram.

125. (1) The United Nations Confer-
ence on Sustainable Develop-
ment [Rio+20) will be held in Rio
de Janelro from June 20 to 22,
2012,

128, (1) Padma Vibhushan awardees
in 2012 are : KG Subramanyan,
Mario de Miranda, Dr. Bhupen
Hazarika, Dr. Kantimal Hastimal
and TV Rajeswar.

127. (2} Government of India provides
interest subsidy on housing loan
at the rate of 1 per cent. On Oc-
tober 25, 2011 the Government
ralsed the housing lnan celling for
avalling 1 percent subsidy to Rs.
15 lakh from existing Rs. 10
lakh.

128. (3) A loan for purchasc of whit:
goods is categorised as Consum:
er Durable loan,

120. (4) India on January 317 2012
selected the French Fighter Ra-
fale over the Eurofighter Typhoon
in a multi-billion doliar contract
for the supply of 126 Medium
Mulli-Reole Combal Alreraft
(MMRCA)-the couniry s largesi
defence desi) in date {Rs. 54,000
crore], !

130. [5) Agriculture sector contribut-

ed 19/ percent'to India's GDF’

in2011.

131, (1) Financiz! Intermediaries are
institutiors which hold money
bafances of, or which borrow
froam,, individuals and another
institutions, In order to make
Ioans or other investments.

152, /1) Base rate is the rate of inter-
esl which forms the basis of the
charges for bank loans and over-
drafts or deposit rate of the com-
merclal banks. On September 9,
2011, the Reserve Bank of India
allowed banks to lend below the
base rate to tribals, disabled etc.

133. (3) According to the latest Sam-
ple Reglstration System data re-
leased by the Union Health Min-
istry In January 2012, the infant
mortality rate in 2010 in Tamil
Nadu was 24, Maharashtra 28,
Goa 10, Uttar Pradesh 61 and
that in Madhya Pradesh was 62.

134. (5) Dada Saheb Phalke Award Is
given by the Minlstry of Informa-
tion and Broadcasting. It was in-
stituted In 1969,
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135. (3) Speed cheque Is not a lype of
cheque.

1386, (3] Mr. John Key is the preseni
Prime Minlster of New Z#aiantd,

137, (4) Loan account is any aceouny
such as a bank overdrail [aeili-
ty, that Is funded by & loan.

138. (1) CAPART : Council for Acd-
vancement of Poople’s Action and
Rural Techriology.

139. (3) Nomination facilily i available

+  with the bank accounts,

140. [5] The members of ASEAN are
indonesia, Malaysia, the Philip-
vines, Singapore and Thalland,
Brund Joisied it in 1984 and Viet-
ntam hecame the seventh mem-
ber op July 28, 1895. Laos and
Myarimar joined it in 1997.

141. (5)/Negotiable instrument is an

) assel that can be transferred in
order to settle debts, Examples
of negotiable instruments are Bill
of Exchange, Bearer Bonds,
Promissory Notes and Bank
Notes.

142. [3) On February 22, 2012 Bam-
bay Stock Exchange [BSE]
launched *Carbon Index”, Indias
first environmental friendly equily
index-B3E Greenex.

143, (5) The World Athletic Champion-
ship 2013 will be held in Maos-
covr, Russia

144. (2] Prime Minister Dr. Manmohan
Singh represented India in the
17th SAARC Summit held at
Addu in Maldives on November
10-11, 2011. He gave a call lo
the member states of SAARC 1o
intensify trade with each other
in order to beat the global alow-
down.

145. (3) There is no such Limit.

144, (1) Bank la debior and customer

" iscreditor.

147. (2) The Government of Rajasthan
on November 29, 2011 decides
1o give Khatedhari Rights to about
30,000 farmers occupying the
custodian lands.

148, (2] Regualation of Forelgn Direct
Invéstment in India is not a lunc-
tion of the Reserve Bank of in-
dhic.

- 148, (3) Scheduled Banks in India con-

stitute those banks which hove
been Included in the second
schedale of Reserve Bank of In-
dia [RBI) Act, 1934,

180. (3] Uranium i= used mainly lor
nuclear power generation.



